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Weekly Review #5





Mr. Lynch

Part I:  Place the letter of the correct answer on the line provided!
_____ 1) What is the image of the point A(4,2) after the composition of transformations defined by R90° ◦ ry = x?


a) (- 4,2)
b) (4,-2)

c) (- 4, -2)

d) (2,- 4)
_____ 2) In the diagram below of parallelogram STUV, SV = x + 3, VU = 2x – 1, and                  TU = 4x – 3.  What is the length of SV?




    S



      V


                                    T
U



a) 5

b) 2


c) 7


d) 4
_____ 3) In ΔADB, m<BDA = 90, AD = 5√2, AB = 2√15. What is the length of BD?


a) √10

b) √20


c) √50


d) √110

_____ 4) The value of 5-2 is 



a) -25

b) 1/25


c) -10


d) – (1/25)

_____ 5) Which is the formula for area of a parallelogram?



a) (1/2)bh
b)  bh

c) (1/2)d1d2
d) 2пr

Part II:  Complete each of the following showing all work!!!
6) Given: Triangle PQR with vertices P (6,-2); Q (-2,10) and R (12,4).

     
a) Prove whether or not PQR is isosceles.
7) Given: ABCD with vertices: A (1,1), B (0,5), C (4,4), and D (5,0).  


a) Graph and label ABCD.


b) Prove whether or not ABCD is a parallelogram.
8) Find the midsegment of a trapezoid whose bases measure 48 and 26 inches.
9) The coordinate of the vertices of ΔGEO are G(-2,-4), E(-3,0), and O(-5,2). 

a) Graph and label ΔGEO.

b) Graph and state the coordinates of ΔG’E’O’, the image of ΔGEO ry-axis.

c) Graph and state the coordinates of ΔG”E”O”, the image of ΔG’E’O’ ry=-x.

d) Graph and state the coordinates of ΔG”’E”’O”’, the image of ΔG”E”O” after D1/2
10) M(7,8) is the midpoint of segment AB. If A(14, 2) what is the coordinate of B?

